
E q u i v a l e n t s

C 80 B ER = VO 13 78 5013 Imp = VO 13 VHTA Fer = CK 1
EK 2 G Phi = EK 32 TCK 1 Tu = CK 1 VK 1 Dar = EK 1
E 1 R/93 Phi = EK 2 TCK 3 Tu = CK 3 VO 6 Tu = EK 2
FC 13 Mul = CK 1 TE 5013 Imp = VO 13 VO 6 S Tu = EK 32
FC 13 C Mul = VO 13 U-GDR Cas = CK 1 VO 13 S Tu = CK 1
0  606 Tri -  EK 2 UK 1 Dar = CK 1 6 E 8 Ult = EK 2
0  607 Tri = EK 32 UK 3 Dar = CK 3 13 M 1 Low = CK 1
0  1307 

OM 8

Tri - CK 1 
Cos = EK 32

UMO 51 

UMO 106

Sat = CK 1 
Sat = CK 3

13 U 3 Ult = CK 1
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EK 2 0,07 1,1 0,25




